CS-21-033

WORK AUTHORIZATION # CM2686-WA01 NASSAU COUNTY BOARD OF COUNTY COMMISSIONERS

Consultant:	Grading & Bush Hog Services, Inc.
Contract Number:	CM2686
Contact Name:	Scott Griffin
Contact Number:	904-276-3314
Email:	gbhsinc@bellsouth.net

	CURRENT	WORK AUTHORIZATION	
Project Short Title: Brid	dge Guardrail Repai	rs	
		CONTRACT OVERVIE	W
Date Submitted	9/20/2021	Total of Previous Authorizations *	\$96,186.25
Amount	\$35,767.50	This Work Authorization	\$35,767.50
Scheduled Completion	30 days	Current Contract Total	\$131,953.75

* Prior expenses were completed through Purchase Orders.

This Work Authorization is to the AGREEMENT between Nassau County and Grading & Bush Hog Services, Inc. ("Vendor") for Guardrail Removal/Replacement/Installation Services, dated June 19, 2019. The services to be provided under this Work Authorization are as follows:

ARTICLE 1. Services Described as:

Vendor shall provide guardrail repairs to Bridges #744314, #744311, #740063, #740066, #744007, #740071, #740042, #740067, and #740097 in accordance with the proposals dated 4/8/2021, copies of which are attached hereto as Exhibit "A".

ARTICLE 2. Time Schedule

Vendor anticipates their earliest starting date to be 30 days from receipt of execution of this Work Authorization with an estimated duration of 30 days to complete the Scope of Work.

ARTICLE 3. Budget

Vendor will perform the services outlined herein for the lump sum amount of \$35,767.50. Vendor's fee amounts are detailed further in Exhibit "A". Vendor will be using rates previously established under Contract CM2686.

ARTICLE 4. Other Provisions

The Services covered by this Work Authorization will be performed in accordance with the provisions set forth in the AGREEMENT referenced above and any of its attachments or schedules. Additional terms or contract provisions whether submitted purposely or inadvertently, shall have no force or effect. This Work Authorization will become a part of the referenced AGREEMENT when executed by both parties.

In presenting this Work Authorization, Vendor agrees that:

Unless detailed herein, all drawings, data, electronic files and other information required for this Work Authorization has been accepted by Vendor. Specifically, all electronic files have been reviewed and accepted for the purposes of this Work assignment. Any additional information, including detailed scope of services are attached.

AGREED TO BY:

BY: <u>Sult Griffin</u> Print Name: <u>Scott Gr</u> Title: <u>President</u> Date: <u>1077/2021</u>	
Print Name: Scott Gr	17710
Title: TO///2021	
Date: 10/7/2021	

ACCOUNT NO.: 03405541-546000 BRDGR

RECOMMENDED AND APPROVED BY NASSAU COUNTY:

County Engineer:

Procurement:

Robert Companion 10/4/2021 Department Head or Designee

10/5/2021

10/7/2021

10/7/2021

Brian Simmons

Megan Diehl Megan Diehl

Taco E. Popey AICP

Taco E. Pope, AICP

Office of Management & Budget:

County Manager:

Ex-Officio Clerk:

County Attorney:

N/A John A. Crawford

Denise C. May. Esq., BCS 10/7/2021 -Michael-S-Mullin--

Denise C. May, Assist. County Attorney

APPROVED by the BOARD OF COUNTY COMMISSIONERS, this ____ day of _____, 2021.

BOARD OF COUNTY COMMISSIONERS NASSAU COUNTY, FLORIDA

N/A

Thomas R. Ford Chairman

ACCOUNT NO.: 03405541-546000 BRDGR

4/8/2021

Exhibit "A"

Nassau County Road Dept. 904-530.6558 Office 904-845-3613 Fax Attn: Caleb Hurst; Senior Development Review Engineer

RE: Guardrail Repairs; Bridge 744314; Griffin Rd at Spell Swamp; Nassau County

Dear Caleb,

Please accept this as a quote to repair the guardrail at the above referenced location. If you have any questions, I can be reached at 904-219-6326.

Item No.	Qty	Unit	Description	Unit Price Ext. Price
102-1		1 EA	Maintenance of Traffic	\$1,200.00 \$1,200.00
536-7		1 EA	Special Guardrail Post	\$250.00 \$250.00
GBHSMisc		1 HR	Minor Maintenance Repair	\$60.00 \$60.00
			Service Charge	

Duration: 1 day

Total \$1,510.00

Sincerely,

4/8/2021

Nassau County Road Dept. 904-530.6558 Office 904-845-3613 Fax Attn: Caleb Hurst; Senior Development Review Engineer

RE: Guardrail Repairs; Bridge 744311; Ford Rd. over Branch of Thomas Creek; Nassau County

Dear Caleb,

Please accept this as a quote to repair the guardrail at the above referenced location. If you have any questions, I can be reached at 904-219-6326.

Item No.	Qty	Unit	Description	Unit Price	Ext. Price
102-1		1 EA	Maintenance of Traffic	\$1,200.00	\$1,200.00
GBHSMisc		6 HR	Minor Maintenance Repair Service Charge	\$60.00	\$360.00
E53632251	5	1 EA	End Anchorage Assembly-Flared (Replace Amber Refl. Sheet)	\$35.00	\$35.00
				Total	\$1,595.00

Duration: 1 day

Sincerely,

4/8/2021

Nassau County Road Dept. 904-530.6558 Office 904-845-3613 Fax Attn: Caleb Hurst; Senior Development Review Engineer

RE: Guardrail Repairs; Bridge 740063; CR 119 over Brandy Branch; Nassau County

Dear Caleb,

Please accept this as a quote to repair the guardrail at the above referenced location. If you have any questions, I can be reached at 904-219-6326.

Item No.	Qty	Unit	Description	Unit Price Ext. Price
102-1		1 EA	Maintenance of Traffic	\$1,200.00 \$1,200.00
538-1		87.5 LF	Guardrail Reset	\$10.00 \$875.00

Duration: 1 Day

Total \$2,075.00

Sincerely,

4/8/2021

Nassau County Road Dept. 904-530.6558 Office 904-845-3613 Fax Attn: Caleb Hurst; Senior Development Review Engineer

RE: Guardrail Repairs; Bridge 740066; CR 115 over Cross Branch; Nassau County

Dear Caleb,

Please accept this as a quote to repair the guardrail at the above referenced location. If you have any questions, I can be reached at 904-219-6326.

Item No.	Qty	Unit	Description	Unit Price	Ext. Price
102-1	1	EA	Maintenance of Traffic	\$1,200.00	\$1,200.00
538-1	137.5	LF	Guardrail Reset	\$10.00	\$1,375.00
				Total	\$2,575.00

Duration: 1 Day

Sincerely,

4/8/2021

Nassau County Road Dept. 904-530.6558 Office 904-845-3613 Fax Attn: Caleb Hurst; Senior Development Review Engineer

RE: Guardrail Repairs; Bridge 744007; Musselwhite Rd over Mills Creek.; Nassau County

Dear Caleb,

Please accept this as a quote to repair the guardrail at the above referenced location. If you have any questions, I can be reached at 904-219-6326.

Item No.	Qty	Unit	Description	Unit Price	Ext. Price
102-1		2 EA	Maintenance of Traffic	\$1,200.00	\$2,400.00
E53612602		44 EA	Guardrail Repairs(Replace Wood Blocks)	\$15.00	\$660.00
538-1		362.5 LF	Guardrail Reset	\$10.00	\$3,625.00

Duration: 2 Days

Total \$6,685.00

Sincerely,

4/8/2021

Nassau County Road Dept. 904-530.6558 Office 904-845-3613 Fax Attn: Caleb Hurst; Senior Development Review Engineer

RE: Guardrail Repairs; Bridge 740071; CR 121A over Wilder Creek; Nassau County

Dear Caleb,

Please accept this as a quote to repair the guardrail at the above referenced location. If you have any questions, I can be reached at 904-219-6326.

Item No.	Qty	Unit	Description	Unit Price	Ext. Price
102-1		2 EA	Maintenance of Traffic	\$1,200.00	\$2,400.00
536-85-22		2 EA	Guardrail End Anchorage Assem. Flared	\$2,850.00	\$5,700.00
536-8-6		2 EA	Guardrail End Anchorage Assem. (Remove)	\$150.00	\$300.00
E53632251	5	2 EA	End Anchorage Assembly (Replace Amber Refl. Sheet)	\$35.00	\$70.00
536-73		75 LF	Guardrail Removal	\$5.00	\$375.00
538-1		12.5 LF	Guardrail Reset	\$10.00	\$125.00

Total

\$8,970.00

Duration: 2 Days

Sincerely,

4/8/2021

Nassau County Road Dept. 904-530.6558 Office 904-845-3613 Fax Attn: Caleb Hurst; Senior Development Review Engineer

RE: Guardrail Repairs; Bridge 740042; CR 121 over Little St.Mary's; Nassau County

Dear Caleb,

Please accept this as a quote to repair the guardrail at the above referenced location. If you have any questions, I can be reached at 904-219-6326.

Item No.	Qty	Unit	Description	Unit Price	Ext. Price
102-1		2 EA	Maintenance of Traffic	\$1,200.00	\$2,400.00
536-85-24		2 EA	Guardrail End Anchorage Assem. Parallel	\$3,000.00	\$6,000.00
536-8-6		2 EA	Guardrail End Anchorage Assem. (Remove)	\$150.00	\$300.00
E53632251	5	2 EA	End Anchorage Assembly (Replace Amber Refl. Sheet)	\$35.00	\$70.00
536-73		75 LF	Guardrail Removal	\$5.00	\$375.00

Total \$9,145.00

Duration: 2 Days

Sincerely,

4/16/2021

Nassau County Road Dept. 904-530.6558 Office 904-845-3613 Fax Attn: Caleb Hurst; Senior Development Review Engineer

RE: Guardrail Repairs; Bridge 740067 CR 115 over Little Dunn Creek; Nassau County

Dear Caleb,

Please accept this as a quote to repair the guardrail at the above referenced location. If you have any questions, I can be reached at 904-219-6326.

Item No.	Qty		Unit	Description	Unit Price	Ext. Price
102-1		1	EA	Maintenance of Traffic	\$1,200.00	\$1,200.00
536-1-1		12.5	LF	Guardrail Roadway	\$24.00	\$300.00
536-8-6		1	EA	Guardrail End Anchorage Assem.	\$150.00	\$150.00
				(Remove)		

Total \$1,650.00

Duration: 1 Day

Sincerely,

4/16/2021

Nassau County Road Dept. 904-530.6558 Office 904-845-3613 Fax Attn: Caleb Hurst; Senior Development Review Engineer

RE: Guardrail Repairs; Bridge 740097 Lake Hampton Rd.; Nassau County

Dear Caleb,

Please accept this as a quote to repair the guardrail at the above referenced location. If you have any questions, I can be reached at 904-219-6326.

Item No.	Qty	Unit	Description	Unit Price	Ext. Price
102-1		1 EA	Maintenance of Traffic	\$1,200.00	\$1,200.00
536-1-1		12.5 LF	Guardrail Roadway	\$24.00	\$300.00
536-73		12.5 LF	Guardrail Removal	\$5.00	\$62.50

Duration: 1 Day

Total \$1,562.50

Sincerely,

NASSA	U COUNTY	

BOARD OF COUNTY COMMISSIONERS

VENDOR NAME/ADDRESS Grading & Bush Hog Services, Inc. P.O. Box 844 Middleburg, FL

_	_	 	
32050			

Phone: 904-276-3314

96135 Nassau Place Suite 1 Yulee, FL 32097

PAGE	
1 OF 1	
DEPARTMENT	
Engineering	
Caleb Hurst	
Robert T. Companion, PE	

REQUESTED BY:

NDOR NUMBER						
INO.	Encumber funds for Bridge Guardrail Repairs	QUANTITY	UNIT PRICE	\$ 35,767.50	03405541-5460	00 BRDGR
				¢ 00,101.00	00103011-0100	ou bribon
	CM2686-WA01					
-01602	CM2686-WA01 provided with this PO request					
						or more extension
341 - 2643 - 3						
					man - and an a second	
GINAL -	FINANCE COPY			1	Subtotal	

COPY- DEPARTMENT COPY

\$ 35,767.50 Total

Department Head

I certify that, to the best of my knowledge, this requisition reflects accurate information, has been reviewed, budgeted for and follows the Nassau County Purchasing Policy. 19/20/2021

Office of Management and Budget

I certify that, to the best of my knowledge, funds are available for payment and this purchase consistent with the Nassau County Purchasing Policy. 10/7/2021

Megan Dielel

County Manager I certify that, to the best of my knowledge, the appropriate staff have reviewed and approved this Requisition and no other conditions would prevent approval. Taco E. Popey AICP 10/7/2021